EARAROBEEIERT — 2 N— IBISH —F 2019587108 (£) 2EI#R5H

mﬂﬁ%%%SﬁiJ: F—7> (R&) BE \ (%] # \ (eEmm]  — | B (£) 2850 &
[A&£] 1 7 13,500,000 § 2 7% :5,400,000 3 7% :3,400,000 § 4 7% :2,000,000 5 & :1,350,000 M
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 o6 | FRREA 3:05.0 3-3-3-3 [13.0| — 1 468 | HHEBESL (3ER)
1@ 8| ¥ THNT - 60.0 = Ge) | ) $5TLYEI5T 5747
RAFAT—NE B:3XVa—H— EvJLyRT7—L4
2 o S s 7 | IHEERE 3:05.0 2-2-1-1 [13.0| — 2 454 | ERIRRAZ (5A)
2 4|/ 7= X I 62.0 (1NF) © |TATLTTT ()
R:7RYA4¥YL—> B:Ly R74— b NEWIE
S : i o4 | RBHER 3:06.4 1-1-2-2 | 13.1| — 7 500 | EAESR (EH#)
3/5|6|RA7—TJITRT—FK 60.0 © © | ® NICKS
T4 >T7Fvoa BIAN—-JIT— I BN
5 St o6 | AR 3:06.8 7-7-6-6 | 13.1| — 4 426 | THIR (EH)
45|58 | ¥TRIVT7 Y 60.0 @ 1/2) © | W ¥ITLYKITT 5747
RAFAT— K B:AREXTTyva EvilLy RTr—L
R . o LEH :07. ~7-8~ . — SiEHR (EH)
5709|1228 T i o8 & 3(057)7 8-7-8-7 | 13.2 10 (4:;4) ity
L:8=/F¥LLy b BENF/AT—Ta AR
WA S # o7 | BREE 3:08.2 6-6-7-7 |13.2| — 5 462 | REAME (RR)
61811 &/ >v—¥— 800 3) (-2 | 08 &/ v92
RF4—TALINT N BTATLT R—%— HET7—L
S e > 7 | KIEE 3:08.4 5-5-4-4 [13.2| — | 12 | 442 |THERA (FH)
ZH 7|L¥ > RXD “ 0 &0 (1) (o) |EHF—EE
R:y—v1 Th B:TU ERd-5> e ]
= = EEFRER : -9-8— — REZEZ ()
slzlio| a5 1715 6 e (31018/5 10-9-8-9 | 13.2 11 ::3; o
LY LTAN—F B:aA—-H KXY BRI LK
s . > NEFFRA :08. -9-10~ . — BEEZ (ER)
9 | @V EE T w AT > 6 é(;o (31018/48) 9-9-10-9 | 13.2 9 ;1:522) e
LT AT7 by h— BihI¥H Y NS
= > 7 | ATRER - - — - 6 442 | BERFOME (W)
x| 11| Ly FF12zIb “ | &0.0 (k) ) | B ERE-ZL-v>y
R:F4=—TA>NNT s B:¥tEyTa J—HrTp—L
N + 5 | H—F _ _ _ — 3 464 |PMRAKRE (BR)
sl 3| A—LILT g 72— g §0.0 (shik) e R
LNNVTTY BN ITT—R al=sbae]
8,253 o . > 4 | BEREX — 44— — — MEER (EH)
x| 8|12| ¥TIVE—7> - 60.0 (k) e s (43:) T
HLSAN—F B:TF—HIAE— WiE  EEL
@ 71 L
) 49.8-37.8
NAraA L
@ 11— S —EBIEfL
1T=7r= 6-4,8,12,7,11,5,9,2-10 1,3
2= = 6-4-8-12,7-11(9,5)-(2,10) 1,3
Gol=5r= (6,%4)=8-(7,12)-5-11-(9,10)2 1,3
43—+ — (6,*4)-8=(7,12)5=(11,9)-(10,2) 1,3
[ N3
BB 8 160/ 714K 4-8 230M & 4-6 530 JEHE 4-6-8 1,950H
8 B 8 110 6-8 550M B = 4-8 500 B 8-4-6 5,630
4 140/ 4-6 980 B H 8-4 700/
6 320H

ABICOVWTRDTEEERROODE. TR LIV,



